R 6 ffitk  BXR

TB5 VAR A TR
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THE - FER - AR Btk HAL E6 s fii &
ELPE T GERE 2
1. gL
(D)7t T
E¥ELT T K 1. 000
PEH (B 1) m3 31. 000
fE (s (1)B) m3 26. 000
R LI aE: S f 4. 500
Peg <A EESiA f 18. 800
E¥ELT K T K 1. 000
PEH (B 1) m3 57. 000
fE (s (1)B) m3 30. 000
HR L m3 154. 000
AR T f 272. 700
(2) 1L AR T
TR No. 2 = 1. 000
e s | e | o
AU — R f 42. 500
B LAy 7L ot 21. 400
KIEEARAT HABVU 12150 EN 0. 200
TR No. 3 = 1. 000
e Ik
AU — R f 36. 600
B LAy 7R L ot 18. 400
KIFEEARAT HABVU 12150 EN 0. 200
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BT No. 4 =X 1. 000
e s |
TR P — P ot 25. 800
2% HER Y ML Bt 12. 900
KiIgENRAT HMREVU 2150 N 0. 200
KL No. 3 = 1. 000
a7 Y — bk fffﬂo('%’—iﬁ) W/C=60%, m3 11. 500
Bk
TR P — P ot 61. 400
BLarz)—h m3 1. 800
FRESE A L EFEAH5~15cm, t=30cm m3 10. 100
HEI T YT RC-40 m3 2. 000
B ik t=10mm nt 1. 500
KL No. 4 = 1. 000
ay 7 J— bk E};g%%iﬁ) W/C=60%, m3 11. 600
TR P — P ot 62. 300
BLarz)—h m3 1. 800
FERESE A L EFEAH5~15cm, t=30cm m3 10. 300
HEI Ty YT RC-40 m3 2. 100
B ik t=10mm nt 1. 500
KL No. 5 = 1. 000
ayr ) — bk E};g%%iﬁ) W/C=60%, m3 9.900
TR P — P ot 52. 700
BLarz)—h m3 1. 600
FEHEEA T HIZEA75~15cm, t=30cm m3 8. 800
HEI T YT RC-40 m3 1. 800
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R 6 Ak BATPE; BRI IIIE TE GHOFHERM) BEkii R
TR - FER - AR Bk HANT Ko {7
H Hibk t=10mm f 1. 500

(3) kLT

5 1. E20 1. 000
AR L (24 1) 9emX 9em  (REAF dh) m 93. 000

KT E20 1. 000
iAo — b %ﬁfﬁgﬁﬁiﬁ%ﬁ(* o 720. 800

Fili T 20 1. 000
Fifi EN 60. 000

(4) SPEAALIET.

XK pEALER v 1. 000
AR kR i EAE  10cm A 1..000
AR kR M EAE  13cm A 1..000
AR kB M EAR  14cm A 2.000
AR kR i EAR  16cm A 1..000
AR kR M EAR  24cm A 1..000
AR kR i EeE  25cm A 1..000
AR kR i EAE  30cm A 4.000
AR kR M EeE  32cm A 2.000
AR kR M EAE  33cm A 1..000
AR kR M EAR  34cm A 2.000
AR kR i E AR 38cm A 1..000
AR kR i EAE  40cm A 2.000
HEA bR MEES  10cm N 7.000
HEA R MEESE  1lem N 7.000
HEA R M ESE  12cm N 7.000
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TFE - AR - A0 Btk HAL E6 s fii &
MEAR ik Ja =B 13em EN 1. 000
MEAR ik Ja =B 14em N 2. 000
MEAR ik MBS 16cm N 1. 000
MEAR R JaEERE 17cm N 1. 000
MEAR R Ja =B 21em N 1. 000
MEAR iR =B 25em N 1. 000
MEAR iR MBS 26cm EN 1. 000
MEAR iR =B 28em EN 1. 000
FRBRIE M m3 4.900
sy Ee (IRER) ton 4. 400
(5)fax T
KRS T = 1. 000
0 5 KiEv) L ot 0. 500
UK ﬁgfﬁoﬁ%% 50~ m 125. 000
R K 1. 000
=7 N b — RN & 1. 000
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